DICHOTOMOUS KEY TO TEN COMMON ANIMAL SKULLS YOU MIGHT FIND WESTERN MONTANA
1a. Skull over 10 inches long and has two fang like teeth in front. The back molars (teeth) are suited for chewing, and are over three centimeters long. Grizzly Bear (an omnivore)
1b. Skull is less than 10 inches long___________Go to______2
2a.This skull is very similar to the Grizzly skull except smaller.  The back molars on this skull are less than three centimeters long. Black Bear (an omnivore)
2b. These skulls do not have the teeth combinations that the bears have (Canines that are fang like, and molars that are designed for chewing)_______________________Go to________3

3a. The back teeth of these skulls are rather flat and are designed 

      for chewing and grinding_________________Go to________4

3b.  The back teeth of these skulls are sharp, and jagged designed

      for ripping, tearing and cutting_____________Go to 5
4a.  Skull has one continuous bone around eye sockets which are on the side of the skull and rather high on the skull. The skull
    measures 5 inches from front to back.  It also

      has two humongous front teeth Beaver (an herbivore)

4b. This skull is very similar to the beaver, but considerably smaller (4 inches in length) Eye sockets tend to be on the sides of skull. Rabbit (an herbivore)
5a. This skull has two long “fang” like front teeth (canines)  and a very “blunt” nose. 

.  It has only one bone supporting each of its eye sockets.

     Mountain Lion (a carnivore)
5b.  These skulls don’t have the distinctive “blunt” nose of the       

      mountain lion____________________Go to 6
6a.  This skull is 6 inches long from front to back​​.  Eye sockets tend to face forward, and have a two centimeter width________Wolverine (carnivore)
6b.  Each of these skulls have long noses____Go to 7

7a.  This skull is slightly over 9 inches long, The eye sockets tend to face forward, and are over three centimeters wide_Wolf (carnivore)  

7b  These skulls are 8 inches long or less___Go to 8
8a   This skull is less then 8 inches long but more than 7.  Its shape is very similar to that of the wolf only smaller. 
       Coyote (a carnivore)

8b These two skulls are very small considering all the others, less than four centimeters from front to back__Go to 9

9a. This skull is slightly less than 4 centimeters long.  It has eye sockets, however, they are so small its hard to determine where they are.  It’s teeth are fitted for both grinding and cutting______Mole (an insectivore)

9b. This skull is approximately two centimeters long.  Eye sockets very small________Bat (an insectivore) 
